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Full Marks : 100
Pass Marks : 30 '
Tlme Three hours
The ﬁgures in the margin mdzcate full marks
for the questzons
Part I (F-Siat) - |
Q. No. 1 (a~f) carries 1 mark each : 1%6= 6
*Q. No.2- 7 carries 2 marks each ~ © © " L Ixe =12
Q. No. 8 12 carries 4 marks each - 4x5 = 20
Q. No. 138’14came56markseach ' ‘ 6x2 = 12
Part II (’I W)
Q. No. 15 (a -f) carries 1 mark eact 1x6 = 6
'Q. No. 16 - 21 carnesz ‘marks each . %6 =12
Q. No. 22 -26 carries 4 marks each  a5=20"
Q. No. 27 &28 cames 6 marks each o Cex2=12 N
" T Toml=50 ..

Total (Part I & m: 50+50 =100"
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PART A - F 9

(@) Define market economy.
@I WIS et |

(b)) What does a point below  the production possibility frori!l{j
indicate ?

@QWWWWW%@ﬁW?
() What-is meant by inferior goods ?
38 = o o gme
(d) What is an mdlfference curve ? 7
few i@ - 7

() If there is no change in quantity demanded despite a Change 1 ;

I

price of a commodlty, what will be .the price elastlc1ty (ep B

demand ? -

| vtﬁxﬂiﬁﬂsﬂ%ﬁaIﬁiﬁﬁ%av*ﬁ@t@%)ﬁhmHZfa? /
() - What is'a production functxon 2.0 - |
Beoti ot o o

T
I

- Dlstlngulsh between positive economics and normatlve economnics.
ﬂﬂﬁf“mqs“ﬂW¢W6‘ﬂﬂﬁﬁmaa'ﬂmﬁm1ﬁﬁn1 /

. : '_1
Mention arty two lrnportant factors determining price elast1c1ty of demar

oIfRAI “@WW ﬁﬁﬂww fe?zm ﬁr ewvffww =t

suptls)of:; w:lten the price of a good 1s T4, the quant1ty ‘demanded i
uni Price increases to ¥ 5, the quantlty demanded falls to 20 uni

Calculate the price elasuc1ty of demand. ; '
@ T, <5l A A 4 Bt gy B o ARSI 25 o 2w G|

mﬁﬁ«msmm
S Rotrrol B | Fﬁ%ﬁﬁ*ﬂ%ﬂﬁizoéﬁﬁﬁﬁiaxalémaca%ns

- What is an 1soquant ? Why are the lsoquants downward slopmg ?

8T ECON

Can there be some fixed cost in the long run ? Justify your answer.

1+41=2
AferTe B7 T7 AR AT 2 (IR TeIR TRt 2w 0 -
~ OR/=H
~ What is margmal product ofanmput7 o ) Ty
<5t B 2l Besiim e | L
Write down the‘eOncept of ,ne_t'mal‘proﬁt. o e 2
Froiide wIS LA ot |- | T
What is monopolistic competition? ...~ . ..., - .2
- oifteR eftwenee @R e o e
What does the Average Elxed Cost (AFC) curve look hke ? Why does it
look so? - a ' 1+3=4
sis %3 7 (AFC) ewmmaa<aﬁﬁ='aﬁaﬁﬁm??emsvm§F*csaagnﬁ$a?
':; cuz/GWﬁv

What is meant by Returns to Scale ? Give the meanmgs of vanous stages |

of Returns to Scale. - 1+3=4
wm{%m%w?ﬁ@ﬁmmmmfﬁm

2+2=4
vwr@nﬂWFrGﬁnﬁ$9vﬁrﬁsﬂﬂﬁrG¢mﬂ§§1%w‘ﬁﬁ¥m?icsﬁ§kn?

What does a f1rm wish to achleve ? What three condltlons must hold for a
profit maximising firm in the shortrun?” - - ''143=4
aﬁﬁﬂﬂﬁfﬁhﬂésmﬂﬁ$izmﬁuﬁﬁ%a¢%iﬁwma?gaamwsamssmamsaﬁﬁemaaq

qaaa=ﬂ@1ﬁ$7%ﬁiw 56 77 T'T AR
_OR/ &%

The productlon functlon of a firm is given asQ = 5L1/2K /2, Calculate the

level of output (Q) when it employs 25 units of labour (L) and 9 units of
4

- capital (K). .
G A ARSI @vfmﬂ oW Q'=5LV2K /2 fagl witR| 25 «% &= (L)

wwesaéﬁmsipﬁﬁwaz)ﬁkﬂﬁfﬁ#ﬁrlﬁﬁhhﬂﬂwaﬁawmﬁﬁfﬂﬁmmtag)ﬁ%ﬁaaﬁnn
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. OR/%a

ive the meaning of Total Fixed Cost (TFC) and Total - Variable
o eI e hﬁ%} 20ty Give t g otal Variable Cost
4 o i (TVC). Show with the help of a diagram that Total Cost (TC) is the sum

12. Explain the effects of a nghtward shift of demand curve on equxhbnuf of TFC and TVC. - 2+4=6
pnce and quantity when the fiumber of flrms in the market is fixed. Iﬁ 5{3 %3 997 (TFC) uI% I0 "lﬁ?l@ﬂfﬁﬁ Jq (TVC) 3 Wﬂ’ﬁi"ﬂ I fﬁ‘ﬁ W CW?L\RIT
- I mwcwwcamﬂwifaqﬁm(rql ' '

11. Explain two characteristics of perfectly competitive market.
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PART B - 2 oid

13. What is demand curve ? Show with the help of suitable diagrams how 5. (1 What is macroeconomics ? o . 1
market demand curve can be derived from-individual demand curveét% iR sdREn &e ‘ " ' s
1 + i . . :
o SifRA Gt ﬁ?? a]%‘if@ sﬁm @-znq 9@1 @m TR sitwt @ 27 iR (b)) What is -autonomous- consumption expenditure ? . 1
mﬁm‘ﬂ@n cei - o v o WA e |
OR/ W a (c) Define excess demand in the context of mcome and employment
| TE"Plaln Consumer’ s optlmum W1th the help of mdlfference cur\ B determination. | S 1
»_ .I__;I:C)roach. . - mwﬁmﬁﬁﬁﬁa«aﬂrwﬁﬁ@ﬂfiﬂawﬁm .
R AR RS WWWW! | @ What are public goods, DT o 1
: T&‘tle';?mmn.rom Cost (TC) schedule of a firm is given below. Calcula e mﬁs? o . e . \, R - i
- the TFC, TVC, AFC AVC AC and MC schedules of the firm. | () Whatis palanced budget ?. 2 a1
N «qﬂﬂﬁ%%ﬁamﬁwjm | e D 2 B
T t:csn eﬁ%émmaTF 4
- AFC, AVC, AC 9iIs MC W%%qu ch Wi?m S c (H Write down the meaning of flexible exchange rate. o1
‘ | Q. pe. ’ R R 7 ol Bl |
0 T i :
[ 1 : 30 . 'WhatISGDPDeﬂatOI'? L ‘ | 2
2 4B @m@emﬂw%? SR | ‘
l 3 s | oR/we | ‘
; -70 o . | Defme budget deficit and trade deficit. =~ = . | 2
| | 90 | mwmmﬁmmmﬁm - -



17. What is Personal Disposable’ Income (PDI) ?
giesrs AN S e

OR / 53
The autonomous consumption in an economy is ¥ 500 crore and total

personal disposable income is ¥ 5,000 crore. If the marginal propensity to

18. Distinguish between demand deposits and time deposits. consume (mpc) is 0-8, find out the level of aggregate consumptlon

mﬁmwwwwwm@ msat|

4
B} WLRES FoF (iR 2w 500 @IS B Wi 15 St gapy @y

5000 cifS 53t | AR oMt @Rerel 0-8 T, Wmﬁm—ﬁmf@as ColR R
St A

19. What is the dlfference between Ex-ante investment and E‘x
investment ? )

a@%mm(m)ﬁﬁmmwm@%?

20. Mention any two items of non-plan expenditure of a government budgf>. What is revenue deficit in a government budget ? Explain its implications

of revenue deficit. 1+3=4
Wmmaﬁﬁs?wmﬁawm =Rt AR gt =1
21. Whatis Balance of Payments (BoP) ? Mention fwo main accounts of

26. Differentiate between devaluation and depreciation of currency.

@a—mm(sop)ﬁs?sopazﬁra&mﬁquawn _ WWWWW%«WW@W
vSuppose the GDP at market pnce of a’country in a particular y- "

7.  Explain the circular flow of income in a simplified economy with twe
%1100 crore. Net Factor Income from abroad is ¥ 100 crore. The vahie sectors — households and firms. . 6

Net Indirect Tax is ¥150 crore and National Income is i 850 eﬂﬁ =R T elfoRiN — a3 f%—-«':e'g}@ <ot W wief IZS R TEiy oIz
Calculate the aggregate value of deprec1at10n. i :;T
[T |

® g G RS e 9 W~WWGDPmaﬂﬁmqa11ooé . :
OR/war

Rori «1 carat Botii 21 I (NFIA) 2100 GO, % +{Cars 3 o

¥ 150 i G SIS 9{@3]1 3110 S] ;ﬁ’;{b . . e . .

I S quw 13850 T, T " Write down some of the limitations of using GDP as an index of welfare
of a countfry. 6 -

Define Intermediate goods, Flnal goods, Consumption goods and Ca i
goods. )

TG} AN, iy AR, c@mﬂmﬁwﬁﬁmﬂm&an@ﬁm

? How does mo
What are the main functlonstof I‘;loney ey overcome ghe
shortcomings of a barter system :

!
1
1
!

. ] - 2+4=¢
24. Measure the level of ex-ante aggregate demand when. autonom q:aﬁ i PIORE 54 ﬁs? R e R 299 RS |y IR
;nvestment and. consumphon expenditure (A) is % 50 crore, MPS is 0- '| OR /&4t -
evel of income (Y) is % 4,000 crore. State whether the economy ‘_
equilibrium or not (cite reasons). . 3,; Briefly explain any four functions of the RBL .
oy R wis oot 1 (&) 250 caﬂ% AR T SRSl 02 I | SRS RS &F (RBDI ﬁmbﬁ’f WWWWI
(Y) 24,000 c=If6 TeT eropifs AR siftwr +Rwie %*m 73 @ﬁ\aan
SRS WS SIS SITRA? IR vt | i 8
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